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The one who taught this did not teach the other

OVERVIEW

X297 72 7117 27 stated [in the name of 27] that the np1°n was permitted 71375 (only)
as a YW nXRMI. At this point (in the question) the X713 assumed that there were N
"2 (as 27 interpreted that nwyn 7°7 90X YW MNIP). The Avw nXMT was the
requirement that there be 217 °7n; for ordinarily one 117 is sufficient to be =°nn
707, The X na therefore asked that this ruling contradicts another ruling of 21
that even if there are 29X 217, the Towwn PN is not considered a SR
concerning 1on. The statement of 7yw nX77, if we assume 7°7 *9X YW NP2
7wyn, contradicts the statement of X% 10m1. The X mx answered X2 R °InnT 187
X7 °1nn. The one who maintains (in the name of 27) that it was a 7yw nX777 does not
agree with the other statement (of 27). It is not clear which statement (of 27) the X713
is referring to. It can be referring to >0 Hw MNP or it can be referring to X? Pono.
Our m»on will point out that this is a NP2 between >"w and the X137 11027,

— YYN NN INAY HY MNIPIT 2NN RY 1IN 297 DIVIPA WD
>'"'w9 explained that 1''1 did not teach that the story of the n?11°n in the 7Iwn
took place by the caravans of 919%. According to i there were no 211 >3 in the case of
the np1°n —

— N2Y9 9N NN M1 XD
And there was only one 219 by the story of the npwn. This was the 7yw nx7, that even
though there was only one 217, nevertheless they were 7°nn the npi°n to AnAd. Ordinarily,
however, "217 °7n are required.
— 9299 595 13°¥2 N1IYY NJI1DY MDY 20D RY 1WIN9D)
And according to s""?v1 explanation there is no argument, for everyone ( X*°17 20
WX 72 and X271 72 7317 27) agrees that for posterity two 5319 are required to be n»
Y —
— 979990 AYYNI NIN 79 NDY
And they (%11 27 and 731 27) do not argue 70979; rather they merely argue how
the story with the np1°n took place. x»n 17 maintains that it happened 9% Sw mnapa
and there were >217 *n; while 131 27 maintains that it did not take place >119% Hw mn1p2 and there
were not *217 "0, but nevertheless they were 7°n» her, based on a 7yw nXM7.
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moon offers a different explanation:'
= N2YY N3 TNTH NY199D 9)0) XD PON1Y AN 2NN KD 13N 297 YD INIIN 192

And the 1''1 explained that 317 39 did not teach the ruling of 27 concerning the
Towan P, that even though that in various respects we consider him a PX7w»,
however not in regards to omy°. Concerning om he is not considered a SR w".
111 27 does not agree with this statement, rather he maintains that by Y%7 217 the
child is considered a 7Xw° even for Pont’; and according to 3317 29 (even) one 237
is sufficient for posterity.

In summation: according to >"wA the story of the np11’n was with one 211 (according to 317 27),
however for posterity two 211 are required. 131 21 does not agree that nwyn 7°7 >0 Hw MP2
but he does agree that 21 stated &> 1°011°9), when there is only one 211.

According to the HX1117 11027, the story of the nP1°n was 211 *n2 (on account of the 7YY nRNI);
however for posterity one 211 is sufficient. 131 27 agrees that 7wyn 7°7 9% YW MIP2; however
he disagrees that 21 stated X 1°017°21; rather one 211 is sufficient.

moon has difficulties with the X3 11°27 Ws:

= N2Y9 N3 %07 NN 9INT 213 12 1IN 239 YWPN 1IN 297 IWI1aY NYH YaN
However there is a difficulty with the s'7"" explanation; according to jim 29,
whose ruling was 3''2%9 following when he ruled that one 211 is sufficient? 117 29
maintains (according to the 11"7) that 7"2°7 rules that X217 717 is sufficient (there happened to be a
requirement of °217 °7n by the NP1°’n only because of the 7yw nX7). This is not in agreement,
with either 9% 137, or with ywi 21 —

- *9595 799975
as the X723 challenged previously. The ruling that one 211 is sufficient to be AN737 9707 is
not in agreement with 1"7 (who maintains that no 217 is needed), nor with yw 7 27 (who
maintains that [even] a [single] 217 is 7217737 9109).

mMooIn has an additional difficulty with the 1" w17s:

"It is possible that Mo is not satisfied with s""w1 explanation. According to *"wA the story of np1n (according to
117 27) was not *119¥ W MIpa; however the X3 just concluded responding to 7°17° ' stating that he seemingly
forgot that 7wyn 7> *NOX YW NP2 (and that was also part of the 'R ®°wp'). [If the X3 is retracting it should have
said 121 *1nnT JRn 'ROR'.] It is also generally not desirable to have a np1onn in the facts of a story. In addition
according to >"wA there is no N7 between X1 27 and 117 27; this seems unlikely (see 7w 0"27n). Finally what is
the point of 717 17 saying that it was a Ayw nX77, but really 217 "n are required? According to the n" w1"d
however, all these difficulties do not exist.

? According to the X331 127, when 137 27 says %A AYW DX, it means that there were 211 >0 by the story of the
nprn. Ordinarily one 211 is sufficient however there was a 7yw n&™17 and they required 217 °7n.

? See “Thinking it over’.
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= NY PONMY HART NONNNR PITNS NN DIYT 9aN0 NIT Ty
And furthermore it is inconceivable that any X712X should argue whether 17

ruled that ‘however concerning °om’ the child is not considered a 9% w>’. The reason

it is inconceivable that 117 27 (or any other X71X) would argue whether this is a ruling of 27, is —
- SRR K92 1Y MNP 799) 291

For 21 himself stated this 70%7; without another X71R saying it in his name.

mooIn brings a proof to this argument, that none of the later 2°&71X would disagree that this is
the ruling of 27:
= NN NN KD NN INNT INI 2IWN KD 191992 2297 NN 191D

And therefore we see that the X713 did not respond to the challenge of m9%29° '
(who contrasted the ruling of X1 27 in the name of 217, with the ruling of 27 that

X7 1on19); by saying the one who taught this (x*°11 27) did not teach this ( por»
X?). This would have resolved the contradiction. The reason the X713 did not offer this resolution
is, for it is inconceivable that any of these later 2°X7 X would argue on a statement attributed
directly to 21.

SUMMARY

"W maintains that 1111 27 disagrees that qwyn 70 0% YW MNIPa; the NN was
permitted only because of a 7yw nXMA. However for posterity *117 0 are required,
agreeing that 21 stated X7 Pon9 if there is only one 1.

"9 maintains that J37 27 agrees that 7wyn 7°0 *0Y 5w MNP, however the *217 °7n
were required only as a Ayw nXM7. For posterity only one 217 is required. 117 27
disagrees that 27 stated X? 10 (with [only] one 217). The difficulties with "
n"7n are that seemingly 37"2°7 is not following either 3"7 or °"7; and that it is
unlikely that 331 21 disagrees that 27 stated X7 1on19).

THINKING IT OVER

mooIn asks on the 1" "9, that 1"27 does not follow either 3™ or >".° Seemingly It
is possible to answer that 1271 follows the opinion of 3";" however here the np1°n
is not claiming *n%y21 7wa *72. Therefore even 3" requires (one) 2.

> When an XK says something in the name of 27 (as in 27 WX 7757 27 1K), then it is possible that another X%
may have had a different tradition as to what 17 actually said, and will therefore disagree with what was said in s'27
name. However, here 27 himself is saying this 73%7. It is universally accepted that 27 maintains this view. How then,
can 117 21 say in the name of 7n°77 YW DRI 27, while 27 himself maintains X 1o 98?1

% See footnote # 3.

7 See (71x:) R"wn.

¥ See 1xm2 1"7 (X,10) 2,7 Mo,
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